
[2*10^10;4*10^12]
ответ
20000400000
4900521

void ege2()
{
    long long int start_section=2*powerV6(10,10),end_section=4*powerV6(10,12), min_num;
    long long int kolvo=0;
    int flag=0;
    for(long long int i=start_section;i<end_section;i++)
    {
        if (flag==0 && i%7==0 && i%100000==0 && i%13!=0 && i%29!=0 && i%43!=0 && i%101!=0)
        {
            min_num=i;
            kolvo++;
            flag=1;
        }
        else if(flag==1 && i%7==0 && i%100000==0 && i%13!=0 && i%29!=0 && i%43!=0 && i%101!=0)
        {
            kolvo++;
        }
        if(i%100000!=0)
        {
            i+=100000-i%100000-1;
        }
    }
    cout<<"min_num="<<min_num<<" "<<"kolvo="<<kolvo<<endl;
}


